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A B C
0.3 85 70 90
0.2 85 70 95
0.2 80 90 85
0.2 ) 90 80
0.1 90 85 80
1.0 85.5 79.5 87
1-1 1~5
A =0.3x85+0.2x 85+80+90 +0.1x90=85.5
B =0.3x70+0.2x 70+90+90 +0.1x85=79.5
C =0.3x90+0.2x 95+85+80 +0.1x80=87.0
1-1 6
C
87 C
1.
2.
3.
4.
5.
6.
7.
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50% ~ 60%
20%

20% ~ 30%

50% ~ 60%
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2-3
> X X
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> X X
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X
X
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+ x
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2-3
2-1 85
18.42%
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8.5% 3.56%
2-1
= + + +
1.
=85%x18.42% =15.657
2.
= 85+15.657 x8.5% =8.556
3.
= 85+15.657+8.556 x3.56% =3.888
4.
= 85+ 15.657+8.556 + 3.888
1.
:2} X
2.
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1.5%
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10.
11.
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7%

1%

5%

3%
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25% ~ 30%

70% ~75%
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30% ~ 38%

10% ~ 20%
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10% ~ 15%
20%

1000 1500 2000
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- FOB +

= - y
4
= FOB X 0.4% ~
0.5%
5
1.5%
- roB * + X
6
= CIF X
CIF FOB
7
= X
17%
8
_ + %
=1
9
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0.3%
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2.3.1 1000t FOB

150 350 /t 2.5%
0.266 %

0.5% 1.5% 22% 17%

1:8.28

1 =150 x 8.28 = 1242

2 =1000x 350 x 8.28  =289.80

3 = 1242 x 0.266 % =3.30

4 =1242x0.5% =6.21

5 = 1242+289.80+3.30 x1.5% =23.03

6 = 1242+289.80+3.30 x22% =337.72

7

8 = 1242 +289.80+3.30+337.72 x17% =318.38

9

= 1242 +289.80+3.30+6.21 +23.03 + 337.72 + 318.38  x 1.025
=2275.95
2275.95
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1% ~ 4%

20
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30 ~99
50
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23

1.5% ~3%
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3~5 /m’
12 /m?

0.3%

0.6%
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8~10 /m’

10%

1%
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0.03% ~2.50%

0.3% ~0.6%

0.5% ~1%

0.2% ~0.4%

0.3% ~0.6%

110kV
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4500 ~ 8000
3.
4.
5.
0.5%
6.
0.3% ~0.5%
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6% ~ 8% 4% ~ 6%

0.5% ~1.5%

300 ~500 / - 600 ~ 1000 /
6000 ~ 10000
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600 ~ 1000 /

700 -



10% ~ 15% 7% ~10%

V,—
n
K—— t
i
K,
2.5.1 22310
20% 55%
25% 6%
1. K, K, K;j
K; =22310 x 20% = 4462
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K, =22310 x 55% =12270.5
K5 =22310 x 25% =5577.5
2.

3
Vl:%?OKZ I+t '—1

= 4462 x 6% +12270.5 x 1+6% %-1 +5577.5 %
1+6% -1
=267.2 +1516.63 +1065.39
=2849.22
2849 .74
p m l
L—(1+49) -1
m
1/2
_ s y
- 2
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2.5.2 3

300 600 400 12%
:%x300><12% ~ 18
:(300+18+;><600)><12% _74.16
:(318+600+74.16+;x400)x12% — 143.06

18 +74.16  +143.06  =235.22

0% 5% 10% 15% 30%5

0% 5% 15% 30% 0% 10%

1.
1
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3-1 DN8O ~ DN100

0.71
1 1
= 0.71 / =1.41 /
3-2
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3-2

60min 2%
2% 1% 20%
1 Im?®
60 x 100
=100- 2+2+14+20 7 8x60
2.
_ :0'}67 /i =0.167
3.
~ 1 1 s
= =0a6™/  ~omY/
0.166
6m’/
3-3 390min
11.7min 7 .8min
1000 520 /m’
1.
= 390+19.5+11.7+7.8 = 8x60
2. 1000
1000 + 520m® ~ 1.92m’
3.

=0.167

/m’

/m’

78min

~0.89

19.5min
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= :?:gg /m’ =0.46 /m’
4,
— :0L6m3/ ~2.17m’/
0.46 /m’ 2.17m’/
lo
p
t
t=tg p
3-4 to 3-2 1
p 3-2 2
t
T=1t p t
0.8m
t=t5 p=1.333x1.43=1.906
1.5m
t=0.115x1.43=0.164
3.0m
t=0.105x1.43=0.150
t=1t p 3-1
3-1
1.5m
0.8m 1.5m 3.0m
1.00 1.333 0.115 0.105
1.43 1.906 0.164 0.150
2.50 3.333 0.288 0.263
3.75 4.999 0.431 0.394
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60% ~ 70%

= x 100%
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3-6
40t

720 -

X
x +40

=40%

26.7t

x 100%

1+
0.95t 5%

=0.95x1.05t=1.0t

40%

x =26.7t

=40t +26.7t=66.7t
66.7t



1+

10
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3-6 10
10%
15x 1+10% 3
_ 10 =1.65
3-7 20t 1 5
10km 5km 0.55
4.4 /
10t

48 .4t
722 -

=4.4x20x0.55t =



1

T48.4+10

=1x0.21
=5x%x0.21

/10t=0.21

/10t=0.21 /10t
/10t=1.05 /10t

3.2.2

/10t
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3-2
1h Ny,
Ky
1 1h Ny,
Ny=m n
N, 1h
n 1h
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Ny,
m
Ny ="
h =y
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2 Ky
K,
3-9 7h
Ky Ky
KB:%:O.875:87.5%
3. N
N: Nh‘ 8 KB
Kg 0.80 ~0.85
0.75 ~ 0.80 0.80
0.85 0.90 0.80 ~0.90
3-10 50s
60s 40s 30s 20s 0.50m’
0.85

1.
50 + 60 + 40 + 30 + 20 = 200s
2.
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60x60/200 /h=18 /h
3.

18%0.5x8x0.85m*/ =61.20m°/
4.

1/61.20 /m’ =0.02 /m’
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-10~0%C

-10C

0C

15C
5¢C 90
8~ 15C
5€C 90 ~ 150
8°C
5C 150
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1.
1
2
2.
2
3
3-2
/nt I I m
1-9 500 70 80 90
1-10 500 90 100 100
1-11 1000 100 110 120
1-12 2000 110 120 130
1-13 1000 1101 120 130
1-14 2000 120 130 140
1-15 3000 135 150 165
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/m’

1 II 1l
1-16 1000 120 130 140
1-17 2000 130 145 160
1-18 3000 160 180 200
1-19 5000 160 180 200
1-20 2000 150 165 180
1-21 3000 170 180 195
1-22 5000 180 190 210
1-23 7000 190 2100 225
1-24 2000 170 180 200
1-25 3000 180 190 210
1-26 5000 190 2000 220
1-27 7000 200 220 240
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24.39
3.5

12.50

2.5

20.79
3.5

18.17

18.50
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16.30
3.5

22.00
3.5

22.00

3.5

18.00
3.5

18.53

3.5

20.31
3.5

DN W N -

1996

26

6

1995

10.93
5.88
2.88
2.76
1.40

23.85
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10.93 + 5.88 + 2.88 + 2.76 +
1.4=23.85
2.78+6.86+1.29=10.93

64.8+23.33=2.78

160 +23.33=6.86

30+23.33=1.29

8+ 15+2+5+3.5%x23.33+
10.93x23.33x 10% = 137.16
137.16 + 23.33=5.88

10.93 + 5.88 x 41 + 239 =
2.88

10.93 +5.88 x23.33 x 12 x
14% +239=2.76

198 + 10.3 + 63 + 62.64 =+
239=1.4

198 /7

62.4 / x 1.65 x 10%

=10.3 /

0.4 / x90x1.75=63
/

0.29 / x 360 x 30% x

2=62.64 /

23.85
10.93

2.88

2.76

1.40

7+41

2/
93 348

90
1.75

13

365 - 78+
=239
35+7x1.5=78
7 3 41
93 393
2/
64.8 /
160 /
93 511
93 291
15
93 511
8+15 /
5 7/
3.5 /
93 397
10%
90 13
41 4
5 1 7
8 1
2
91 2
10
14%
93 511
198 /
62.4 /
1.65 93 511
10%
0.4 /
90 13
0.29 / 30%
90
2
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/%

0.5

1.5

2.5%

— .

20%
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40%

20%

20%




3-1 80t 320 /t 10/t

1% 3%

= 320+10+320x 1% x
/t
=341.20 /t

=341.20x80 =27296.68

3-2 145 /t
14.87 /i 2.5%
= 145+37.28+14.87 x
=202.08 /t

0.1 7/

50kg

1+3% /t—=0.1x20

37.28  /t

1+2.5% /t
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N

®6e -7

2% 3% 4%
5%
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+1
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(98]

n

- 740 -

X 3%




x K

x 12 +
3.3.3

800

100000

4000

1+

4000
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B X _4000x4 _,
- T 4000

742 -



N

NIl
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10% ~ 15%
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1+

1+

1+



= X x 100%

2.
= x 100%
X
3.
= X
3-4 16.8 /
240 80% 12%
2145.2
2145.2
“30% =2681.5
_2681.5 :
16.8 x 240 < 12% =8.0%
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5% ~ 8%
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/m’
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3-1
5600
1. 2400 107.4%
2. 2360 105.6%
3. 840 105%
2400 2360 840
= 0 ¥ 107.4% + 5200 X 105.6% + g0 x 105%
= 106.28%

6.28%
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21158m*
16.05%
80.96 %

59%

100%
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+30%

+20%

+ 10%
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30%
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0.5~2

100

Qz)"
C :C(
=Gl

O<sn<l

n 1

50
n 0.6~0.7
n 0.8~0.9

50 10
n=05 f=1



Qz)n
e
2 1 Ql f
~ 100)05 3

C,=10x 50 x 1 =14.14

C=E 1+ fipi+fapr+fips+ +1
C_
E_
Py P, P
FiFyF;
I_

C=E 1+ F P +f(Py+f3P 5+ +1
Py P, P;

D:G 1+2Ki 'KC
767 -



C_
K—
K—
K
K.= 1+3K - K,
4.2.1

4.2.1

0.10~0.20
0.10~0.25
0.05~1.00
0.03~0.13
0.07

0.05

0.06~0.10
0.07~0.15

0.06~0.10
SKi=1.04~1.93

1+3K, C

0.30
0.13

0.13
K.=1+0.56=1.56

D= 1+3K KC= 3.18~4.57 - C
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1.09

4.2.2 650mm

4.2.3

100kt

x1.55 +

0.09
0.12
0.01
0.04
0.18
0.02

0.04
0.03
0.01
0.01

0.67
0.14
0.32
0.21

1.55

1.09
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/t

/m’

100kt

/kVA
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/m

0.26

0.38

2.98
x2.98

/m’

/m’

/m’



1

=8.28

x 30%
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4.2.5

17.5
2.
3.
5% ~12%
4.

772 -

1.5

15000 x 17.5/100

15% ~ 20%

= 2625

4.5



100%
773 -



F=P 1+

%
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1+ "—
n
4-1 100 5.98%
2
F=100x 1+5.98% °* =112.317
F
P
1 .o
P:F[ ] P=F 1+i "
1+1
1+ "— P/F 1 n
4-2 100
2.329%
F =100 n=2 1=2.32%
P=F 1+i "=100x 1+2.32% ~?=94.5166
n A 1 n
F F A
F=A 1+i " '"+A4 1+i "%+ +A=A 1+li -1
1+LL. -1 F/A 1 n
4-3 100 8%
1+7 " -
F=A =100x 12.542 =1254.2
n F 1~n

F/P
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A= F d
l+i"—1
i .
A/F
1—i"—1 Leon
4.3.4 5 20
8%
F =20 i=8% n=5
A=F L =20%0.1750 =3.41
1+:1 "=
i 1
i 141"
A‘P[ 1+i”—1]
i1 141"
A/P
1+ "1 B
4-5 100 10% 5
P=100 i=10% n=5
i+ " 100% 1+ 10% 3
A=p Lt 00 =26.38
1+i"-1 1+10% 5-1
n
A 1 n P
P-4 1+ .—nl
i1 1+
l+i -1 P/A i n
1 1+
4-6

10



3 5.98%

1+ "-1 1+5.98 °-1
P=A =1 =26.739.8
1+i ™1 0 5.98% 1+5.98% °

M5 B =— s8gE |
|
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1
4-1
1
)
4-1
%
1
1.1
1.2
1.3
2
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2.1

2.2
2.3
2.4
2.5
2.6

3+2.5+2.6
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1.1
1.2
1.3

2.1
2.2
2.3
2.4
2.5
2.6
2.7

%

® e
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N N W

10
11

12
13

%

10%

50%
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2.5
2.6
2.7
2.8
2.9
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2.3

2.3.1

2.3.2

2.3.3

2.3.4

%
%
%
1
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1.1
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Cl—
CO—
CI-CO —




=0 1 2 P,
P, = -1+
P, P,
P,< P,
4-17 4 -8
4-8
t 0O 1 2 3 4 5 6 7 8 9 10 11 12
20 40 10
30
10 15 25 25 25 25 25 25 25 25
7 7 7 1 7 71 1 1 1 17
4-9
P, = -1+ =
| — 311
5-1+ G777 =4.97
25+7
4-9
t 1 2 3 4 5 6 7 8 9 10 11 12
—60-170
10 25 50 75 100 125 150 175 200 225
7 14 21 28 35 42 49 56 63 70
+ 17 39 71 103 135 167 199 231 263 295
-60-70-53-31 1 33 65 97 129 161 193 225
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Y,
S CI-CO ,x 1+ °°F

Pc

=0
t=1
e
P —
P’t = -1+
4-8 4-7
i.=15%
4-7 4-10
4-10
t 0 1 2 3 4 5 6 7 8 9 10 11 12
-20 -40 -40 17 22 32 32 32 32 32 32 32 32
-20 [-34.78-30.26 11.18 | 12.58 | 15.91 | 13.83 | 12.03 | 10.46 | 9.10 | 7.91 | 6.88 | 5.98
—-20 |-54.78-85.04—73.80-61.28 -45.37-31.54-19.51) —=9.05| 0.05 | 7.96 | 14.84 |20.82
| —9.051
P.=9-1+—7"""-=8.99
! 9.05+0.05
!
D
1 FNPV
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FNPY=3 CI-CO ; 1+i

FNPV =0

@ 4-7
FNPV =20.82 >0

@ FNPV
FNPV:_ZO CI-CO ; 1+ ~'= =20
+ 40 x 1+15% ! +
+17x 1+15 3 + 22 x
1-15% ®-1
1+15% ®x15%
=-20 -34.78 -30.26
+82.14 =20.86

FNPV 0

2 FNAV

FNAV i, =FNPV i, x

FNPV
FNPV

i.=15%

x 1+15% °
1+15% 2

— 40

X

1+ 15%

+11.1

A/P

8

Le

n

-4

+12.58

+ 32 %
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4-10
FNAV i,

I,

FNPVR
4-11

FNPVR

792 -

e

n

i 1+,

—FNPV
NPV e X

FNAV  FNPV
4-8
=FNPV i, x A/P i, n
15% x  1+15% 2
= 2086 e, 2y
=3.85
FNPVR
. FNPV i,
FNPVR i, =—+—"-
]P
., —
4-9
_FNPV_ g,
=
~ 20.82
T20-40x 1+15% “'+40x 1+15% ~°
=0.2448
FIRR
S C-CO; 1+i "'=0
i FIRR



ro
.
.
r FNPV
r i2 - il <5%
.
) FNPV i,
rEnt TN XENpy 5, —FNPV 4,
.
r FNPV i, =0
r FNPV i, <O
i, FIRR=> i,
FIRR= i,
4-12 5000
800 2000
FNPY =3 CI-CO ; 1+FIRR
1+FIRR -1 10
— ~ 5000 + 800 2000x 1+FIRR ~1°=0
TOUXEIRR 1+ FIRR 0TV T
FIRR
) i
i=0 P=5000 S =800x 10+ 2000 = 10000 P=S P/S
n l
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5000=10000 P/S ¢ 10
pP/S ¢ 10 =0.5

i 7% FIRR 7%
@ FIRR
i1 =11%
_ 1+11% -1 10
FNPV_—5000+800><11% Lo 11% 5 +2000x  1+11%
= — 5000 + 800 x 6.2065 + 2000 x 0.3520 = 699.2 > 0
i2:12%
1+12% -1 e
FNPV = - 2 1+12
NPV 5000+800><12%_ L+ O 000x 1+12%
= — 5000 + 800 x 5.4262 + 2000 x 0.3229 = 164.2 >0
i3=13%
1+13% -1 10
FNPV = - 2 1+1
NPV 5000+800><13%_ L1130 0°F 000 x +13%

— 5000 + 800 x 5.6502 + 2000 x 0.2946 = —-69.8 <0
©) FIRR

164.2
FIRR=12% + 13% -12% X715 . cgg=12-7%

12.7%

= x 100%
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=
2.
= x 100%
=
4-13
2500 1800 272.5
1500
= 2500 - 1800 -272.5 =427.5
= x 100% =
427.5
1500 = 28.5%
2 = — =
2500 - 1800 =700
= x 100% =
700 _
1500 % 100% =36.67%
3.
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= x 100%

50:50

67:33  75:25

=—x100%

2:1
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- 11

x 100%

1
4-6
4-14
14 1828.2
419.8 2
160 1125
600 63.1 33%
50% 70% 85%
20% 7
13%
4-11
4-11

1 2 3 4 516 |7 |8~14]15

50 70 85 |100|100| 100| 100 |100
1

1.1 562.5|787.5|956.3

1.2
1.3
2
2.1
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1 2 3 4 5167 |8~14|15
2.2
2.3 300.0|420.0|510.0
2.4 31.6 | 44.2 | 53.7
3
4 33%
5
6 - 13% 1.881
7
8 i 14% 1.716
9
@
&)
€)
@

1. 4-12
4-12
1 2 3 4 5 6 7 8~14 15
50 70 85 100 | 100 | 100 100 100

1 562.5|787.5]956.3|1125.0{1125.0/1125.0 7875.0 |[1704.8
1.1 562.5|787.5(956.31125.0{1125.0|1125.0) 1125 x 7 |1125.0
1.2 419.8
1.3 160.0
2 1828.2 | 491.6|464.2|563.7 | 663.1| 663.1|663.1|663.1x 7| 663.1
2.1 1828.2
2.2 160.0
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1 2 3 4 5 6 7 8~ 14 15
2.3 300.0(420.0(510.0{600.0 | 600.0|600.0600.0x 7| 600.0
2.4 31.6 | 44.2 | 53.7 | 63.1 | 63.1 | 63.1 63.1x7]| 63.1
3 100.6 | 100.6 | 100.6| 100.6 | 100.6| 100.6 [100.6 x 7| 100.6
4 33% 429 | 73.5 1 96.4 [ 119.2|119.2|119.2/119.2x 7| 119.2
5 —1828.2| 28.0 [249.81296.2|342.7342.7|342.7 |342.7x 7| 342.7
6 139 0.885 [0.78310.693|0.613|0.543(0.480|0.425| 1.881 |0.160
7 —-1618.0] 21.9 | 173.0|181.6|186.1(164.5|145.6| 644.6 | 147.6
8 S 0.877 10.76910.67510.592|0.519(0.456|0.400| 1.716 |0.140
L= (9
9 —1603.3| 21.5 | 168.5|175.4|177.9(156.3| 137.1| 588.1 46.9
1125 — 600 - 63.1 — 100.6 361.3 )
2. = 1828.2 + 160 x 100% = Jgg¢ 5 x 100% =
18.17%
<
|-26.11
3, S
4-13
4-13 i=13%
1 2 3 4 5 6 7 8
—1828.2| - 1800.2| — 1550.4| — 1254.2| -911.5| -568.8| —-226.1| 116.6
< 8
15
4. =3 C-C0 ix l+i "' =46.9
>0
46.9
=1618.0+ 160 x 0.783 = 0-07
S.FNPV i=13% =46.9 FNPV i=14% = —49.5
46.9
FIRR=13% +  14% — 13%  x 3o g0 = 13.49%
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TR=p Q
IC=W+Q+F
H=TR-TC= P-W (Q-F
H=0 TR-TC=0 Q P
4-4
F
Q_P—W
F+W Q
P = 0
rQ-F
W =
Q
F= P-W -Q

Qo Q"

BEP ( :%— x 100%
0
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BEP Q <70%

TR.TC TR=P - Q(BHER)
TC=W - Q+F
. : eRE®
BEP :
R S
H 1
0 Py o i J
H 1
' B=TR-TC
H =(P—=W)+Q—F
0 .
/a" Q Q
—~F
4-4
4 -15 5000t
2000 1 6
2400 /¢
5%

L 2000x  1-10%

F . =300

1. 0
0" x2400x 1-5% =3000000+ Q" x 1280

. 3000000
Q" =3280 1280 = 3000t
2.

:%XIOO%:@%

3, p*

. 3000000+ 5000 x 1280 ,
P = 3000x  1-5% /t=1978.95 /t
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AV,
RN
V X, =YV,
Xk VO
FNPV Vo=0 FIRR Vo
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Xk
| Sk |
R=7x:
| Sk | V X,
| X | X,
4-16
1 n L R C
10000 5 2000 5000 2200 8%
NPV n i C v/ N 2%
12 000 Ii;:;’l‘
ENPY 10 0001} *’““E’m; -
8 000 ' : e o
FNPV = - 10000 + 500 P/A 8% s |
1 000 l 1
5 -2200 P/A 8% 5 +2000 P/ 17N
F 8% 5 = 2541 ezl ) 100
C 2000 PNPV<()ll :I\ o
5% = 10% + 100% oo N
FNPV  FNPV TR T e
i n FNPV SNBNTHNY%
4-5 FNPV
FNPV 4-5 +20%
i
35%
2 28%
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1%
75 %
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30m

(\®]

150m
3~5

120m
37.5m



1.8% ~3.6%

400 x 500m>
36.48 m’
3.

70%

0.6m

16 100 x 125m’

20
5400m

1m

m2

8.3%
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10

12cm

12 ~30
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H=100m

70%

40% ~ 50%
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4
1.
20%
80%
2.
T L
20% ~ 30%
1:2
90m
3~4
60 ~ 80m
3.
3m 2.8m 4% ~4.5%
2.8m
4.
1~3 4~6

819 -



820 -

10



1997

3.28%
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V=F/C

—

P P NETARE
C—EBE;C—Rit ExRE,
Cr—RHRE . C—ARSRE

5-1



G

5-1
C,
Cmin
B D
V
2.
3.
5-1
5-1
2
5 [1] ”

C Cy
05}
C=Ci+C,
5-1
Ci
D
D
c' A B
F C
3 8
ke ” 1
3 4
6 7
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8 9
10
11 12
12
“ ” 60% 30% 10%
Q 5-2
5-1
1.
1.
2.
2.
3.
3.
4.
4.
5.
5.
6.
6.
7.
7.
8.
5-2
0.6F, +0.3F, +0.1F,
Fi| Fyx0.6 Fy| Fix0.3 Fi|Fix01] == 100
Fi| 40.25 | 24.15 | 31.63 | 9.489 | 35.25 | 3.535 0.3718
Fy| 17.375 | 10.43 | 14.38 | 4.314 | 155 | 1.55 0.1629
Fy| 2.875 | 1.725 | 4.25 | 1.275 | 3.875 | 0.383 0.0339
Fy| 21.25 | 12.75 | 14.25 | 4.275 | 20.63 | 2.063 0.1909
1 " F 5347 | 2.625 | 5.25 | 1.575 | 2.875 | 0.288 0.0449
Fs| 225 | 1.35 | 5.875 | 1.763 | 1.55 | 0.155 0.0327
Fy| 175 | 1.05 | 4.5 1.35 | 0.975 | 0.098 0.025
Fs| 6.25 | 3.75 | 6.625 | 1.988 | 5.875 | 0.588 0.0633
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0.6F, +0.3F, +0.1F,
Fi | Fix0.6 Fy | Fyx0.3 FolFox01] == 100
Fo| 1.15 0.69 8 2.4 5.5 0.55 0.0364
Fp| 1.05 0.63 2 0.6 1.875 0.188 0.0142
Fu| 0.875 0.525 1.813 0.544 4.75 0.475 0.0154
Fi| 0.55 0.33 1.437 0.431 1.35 0.135 0.009
100 60 100 30 100 10 1
5.2.3
5
C
C= /
5.2.3 A =196/ 196 + 149 + 185 + 151 + 156 =
196/837 = 0.2342
B C D E 0.1780 0.2210
0.1804 0.1864
5-3 5
/
7 3m 240mm
A 196 0.2342
7 2.9m 240mm
B 120mm 149 0.1780
7 3m 240mm
C 185 0.2210
5 3m
D 151 0.1804
E 3m B 156 0.1864
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10 12
5-4 S
= 36:5;
A :%oiSij:O.37l6>< 10 + 0.1629 x 10 + 0.0339 x 9 +
0.1909 x 10+ 0.0499 x 8 + 0.0327 x 10 + 0.025 x 6

+0.0633 x 10+ 0.0364 x 9 + 0.0142 x 8 + 0.0154
x 8+0.009 x 6=9.646

B CDE 9.114 9.095 8.455
9.145
s,
N o 9.646
9.646 +9.114 +9.005 + 8.455 +9.145
= 9.646/45.455 = 0.2122
B CDE 0.2005 0.2001
0.1860 0.20212 5-4
v
V=F/C 5-5 5-5
B B
B 149
12
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5-4 5
A B C D E
F, 0.3716 10 10 9 9 10
F, 0.1629 10 9 10 10 9
F, 0.0339 9 8 9 10 9
F, 0.1909 10 10 10 8 10
Fs 0.0449 8 7 8 7 7
Fq 0.0327 10 8 9 7 8
S
F; 0.025 6 6 6 6 6
Fq 0.0633 10 6 8 6 6
Fy 0.0364 9 8 9 8 8
Fi 0.0142 8 10 8 6 4
Fi, 0.0154 8 8 7 6 4
Fp 0.009 6 10 6 8 10
SisoiSfj 9.464 | 9.114 | 9.095 | 8.455 | 9.145
%D'SU 2122 2 2001 1 2012
S 0. 0.2005 | 0.2001 | 0.1860 | 0.20
iJ
5-5
F C V=F=+C
A 0.2122 0.2342 0.9061
B 0.2005 0.1780 1.1264
C 0.2001 0.2210 0.9054
D 0.1860 0.1804 1.031
E 0.2012 0.1864 1.0794
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C =KxE+V

C =K+Vxt

C —_—

C [

K_

V_

f—

E—

5-2
1 K, =1000 Vi =1200
Il K, =1100 V, =1150
il K5 = 1400 V3 =1050
t=5 E=0.2

I C =K E+V,=1000 x 0.2+ 1200 = 1400

C =K/ E+V,xt=1000 + 1200 x 5 =7000
832 -



I € =1100  x0.2+1150  =1370
C =1100  +1150  x5=6850
M ¢ =1400  x0.2+1050  =1330
C =1400  +1050  x5=6650
[l
S:ésiwi
S_
§—
W—
i 123 n
5-3
5-6
5-6
I
1. 3
5 2. 2
3. 1 1
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S;
1 I
1 4 4
4 2. 3
3 2 2
1 x 3
3 2. 2 2
3 y 1 1
1 3
2 |2 2 2
3. 1 1
1 3
1 2 2 2
3. 1 1
35 2

St :éSUWi:2><5+4><4+1><3+2><2+2><1:35
Sy :_%S%Wi:3x5+3><4+3><3+3><2+2x1:44

Sm:_§IS3L-Wi:1x5+2x4+2x3+1x2+1:22
Il
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Absent Image
File: 0


90 %
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/ /90% / +m72 /90%
1 31.80 28.62 480 432
2 55.30 49.77 840 756
3 20.25 18.23 305 275
4 32.50 29.25 490 441
0.06 0.05 10 9
0.30 0.27 5 5
1.25 1.13 20 18
7.15 6.44 110 9
3.10 2.79 45 41
3.40 3.06 50 45
2.25 2.03 35 32
6.60 5.94 100 9
2.75 2.48 40 36
4.45 4.01 65 59
0.65 0.59 10 9
5 0.90 0.81 15 14
6 1.30 1.17 20 18
7 3.80 3.42 60 54
8 39.10 35.19 590 531
9 1.35 0.27 5 5
10 1.35 1.22 20 18
11 19.25 17.33 290 261
12 79.75 71.78 1210 1089
5.50 4.95 85 77
19.00 17.10 290 261
36.00 27.00 450 405
8.00 7.20 120 108
0.85 0.77 15 14
11.00 9.90 165 149
2.85 2.57 45 41
2.25 2.03 40 36
13 1.10 0.99 15 14
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/ /90% - m™? /90%
14 2.25 2.03 40 36
15 1.25 1.13 20 18
16 3.20 2.88 50 45
17 293.70 264.33 4450 4005
19 24.05 21.65 305 275
20 317.75 285.98 4775 4280
3.
1
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©® ® O © 06006 .v

)

3
@
@

1991
a. 2% ~3% 3%
b. 3% ~5% 5%
c. 5% ~10% 10%
d. 10% 20%
€.
5% ~10%
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/

m2

+ + +
+ + +
X
- X
X
+ > [
| -]
427.77  /m? 5-1

=J+ QP - QP
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Q—

P —
Q2
P,
]___
5-1
n? /% i
/
1 0.43m’ 5.1 21.81 50.70  /w’
2 0.58m’ 6.6 28.23 46.67 /m’
0.19m’ 5.9 25.20  [132.82 /uw’
0.36m’ 0.7 3.0 8.33 /m’
3 8 34.22
0.008m’ 0.3 1.28 166.65 /m’
0.0461 7.7 32.94 716.09 /i
4 0.139t 24 102.65 739.05  /t
5 10.2 43.63
1.05m’ 9.2 39.35 37.48 /m?
1.02m? 1.0 4.28 4.07  /w?
6 1.6 6.84
7 0.153t 34.1 145.86  [953.33 /m’
8 10.4 44 .48
427.72  /m?
5-1
=427.72 /m*+0.36x8.33 /m’-0.19 x 132.82
/m’
=405.52 /m’
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K,
>
Ks
>
x K 3

XI<1+

XK2+
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K
1+ )
K
5-2 25%
7% 3.44%
1000m®
+ 85000 63.32%
1.5% 15.5%
1.35
1.12 1.08 1.02
1000m>
12500
/m 3m 1000m?

K=63.32% x1.35+1.5% x1.12+15.5% x 1.08 +19.68 x 1.02=1.24
A=85000 x1.24+12500 x 1+25% =121025
B=121025 x7% =847.75

C= A+B x3.44% =4454.69
=A+B+C=133951.44

- %“ /= 133.95  /md
3m m’ =133.95 /m’x3m=401.85 /m’
1000m? =401.85 /m’ x 1000m’ = 401850
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Y0

¥/
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/t

1.
2.
5-2
5-2
/ / +m7?
/%
262.00 1.75 |263.75 4256 61.16
1 212.81 1.25 |214.06 4256 | 502.96 | 49.64
2 5.13 5.13 4256 | 12.05 1.19
3 21.33 21.33 4256 | 50.12 4.95
4 0.65 0.65 58.50| 111.11 0.15
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/ / +m7?

/%

14.08 14.08| m?> |402.25| 350.03 3.26
8.00 0.50 | 8.50 | m* | 4256 | 19.97 1.97
130.95| 35.56 167.51 38.84
113.31| 34.71 148.02| t |427.25| 3464.48 | 34.32

17.64| 1.85 19.49| kW |343.75| 566.98 4.52
262.00(130.95/ 36.56| 1.75 |431.26 100

5-3

849 -




AN N <t n

850 -



5-4 x x
/
/' %
/

623.55|443.45|1375.67] 23.38 2467.05 84.80
189.49(293.08[1050.18 20.00 1552.75 5000| 3150.50 | 53.37
79.79| 1.82 | 50.95| 3.38 135.94 4.67
106.23|148.55|275.54 530.32 18.23
248.04 248.04 4238 585.28 | 8.53
303.84 | 303.84 10.44
75.00 | 75.00 2.58
228.84 | 228.84 7.86
138.54 | 138.54 4.76

623.55|443.45(1376.67) 23.38 | 442.38 | 2770.89

623.55|443.45|1376.67| 23.38 | 442.38 | 2909.43
/% |21.43|15.24|47.32| 0.8 15.21 100 100
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10%

30% ~ 50%
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25%
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1.
1900m>
0.41m*/m’

370mm

MM

779m’
779m® + 1900m’

0.42m*/m’

0.46m’/m’
0.42m*/m’
240mm
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1900m?
1900m’ + 6 = 317m’

317 % 0.42 x %ﬁ%-1 = 72 12m°

72.12m* = 1900m* = 0. 4m’>/m*
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6-2
6-2
m >24 > 18 > 12 <12
m >20 > 15 >9 <9
n’ > 8000 > 5000 > 3000 <3000
m > 36 >24 >12 <12
>24 > 15 >7 <7
m? > 12000 > 8000 > 3000 <3000
m > 67 >42 > 20 <20
>20 > 13 >5 <5
m’ > 1200 > 8000 > 3000 <3000
m > 67 >42 > 17 <17
I Il Il \}
> 100 > 60 > 30 <30
>40 > 30 <30
> 30 >20 <20
> 2000 > 1000 > 500 <500

A WY = =

871 -




6-8

6-3

/%o

20.21

18.42

15.73

12.61

17.30

68.82

872 -



+
/% 10 8.5 5.6 3.8 5.70 17.72
/ % 12.45 10.37 6.64 4.35 6.77 17.72
6-5
/ %
18.56 18.57 16.53 16.34 18.61 18.58
12.37 12.49 13.67 14.67 12.43 12.35
22.51 22.15 23.39 22.52 22.14 22.62
40.28 40.55 40.31 41.24 40.17 40.01
6.28 6.24 6.10 5.23 6.65 6.44
6-6
/ %
3.56
3.49
3.43
6-7
1x
1x
1x
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6 1+2+3+4+5 x

7 142+43+4+5+6 X

8 1+2+3+4+5+6+7
6-8

1

2

3 2%

4 2 X

5 2%

6

7 1+3+4+5+6 x

8 1+3+4+5+6+7 X

9 143+4+5+6+7+8

1.
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3.10kV

25m

St

St
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2.
3. “ 5
2.
6-10
6-6 6-11
6-12
6-10
/%
137.92 | 128.01 | 113.09
65.20 | 52.16 | 32.98
21.17 19.69 | 18.17
12.19 9.58 5.88
6-11
1
2
3 2%
4 2 x
5 2x
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7 1+3+4+5+6 x
8 1+3+4+5+6+7 X
9 1+3+4+5+6+7+8
6-12
/ %
47.12 43.86 39.34
24.90 23.70 22.49
20.67 19.28 16.21
38.83 35.61 30.42
6.40 5.56 4.63
137.92 128.01 113.09
1.
0.5% ~
4.26% 3.94% ~ 20.07%
2.
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0.13% 0.03%

N B W N =

878 -



<

S o

s ® 3 3

s @ I 3

&)

<

879 -



880 -



881 -



6 4.1 M5

354m’

10m’
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“ 1D001”

=354 + 10 x 1304.43

MU10

46176.82

1304.43

=46176.82



o

o

M7.5
M5 MI10 M5 M0
M7.5
= M5 MI10 +
x M7.5 - M5 M10
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6-1 10m®
y M5
/ / / / /m’
1D001 1304.43 | 219.24 | 1067.91 | 17.28 5.24 2.36
6-2 m’
/ /
425 # /kg /t /m’
M5 95.74 95.74 337.00 1.288 0.5
M7.5 107.42 107.42 402.00 1.288 0.5
=1304.43 /10m® +2.36x 107.42-95.74 /10w’
=1304.43 /10m® +2.36x11.68 /10m’
=1304.43 /10w’ +27.57 /10m’
=1332.00 /10m’
10m®
425 2.36 x 402kg = 948 7kg
2.36 x 1.228m’® =2.898m’
M7.5 1332.00 /10m’
3.
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CI5

1:2

# 100

#75

C15
60mm

C10

M5

M5

1m

20mm

C20
80mm
1:2

92.07m’

C20
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6 $100
12.
15kim
2. 1] 1kim
6-3
6-3
1 C15 450mm m 25.83
2 C20 3 2.94
3 m 2.083
4 < 1800 m 0.816
5 m 1.42
6 m 4.01
7 m 1.70
8 m 2.55
9 m? 1.944
10 C20 m 0.405
11 m 0.565
12 t 0.0251
13 m 6.139
14 t 0.5598
15 t 1.2657
16 Il 15km m 6.127
17 3 6.048
18 m 0.561
1.
6-4

886 -




887 -



2. 6-5
6-5
/
1 18528.13
2 1x12.61% 2336.40
3 1x3.24% 600.31
4 1x4.35% 805.97
5 5-1 + 5-2 277.92
5-1 1x1.5% 277.92
5-2 0.00
6 1+2+3+4+5 x0.18% 40.59
7 1+2+3+4+5+6 x3.56% 804.18
8 1+2+34+4+5+6+7 23393.51
18528.13
23393.51
6-4
1. 6-6
12m
2.
20t
20t
3.
10000
4.

888 -




/kw /t
Q=20/5t | L;=19.5m 1 | 56.5 | 56.5 | 30 | 30
B2020 | 2000 x 6000 1 77.1 | 771 | 66.5 | 66.5
€620 | B410x 1500 1 | 4.625 | 4.625 | 2.24 | 2.24
€630 | (615 x 2800 1| 10.125 | 10.125 | 4.47 | 4.47
B690 900 2 11 2 |45 9.1
735 350 x 1600 1 | 8.625 | 8.625 | 4.3 | 4.3
3025 | 925 900 1| 3.125 | 3.125 | 1.4 | 1.4
T68 785 1 9.2 2 | 12
320
X52K 11 28 | 28
~50
6-7 6-8

889 -
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/
1 146110.69
2 43959.53
3 2% 128.01% 56272.59
4 2x20.07% 8822.68
5 2x52.16% 22929.29
6 10500.00
7 1+3+4+5+6 x0.16% 391.42
8 1+3+4+5+6+7 x3.56% 8722.95
9 1+3+4+5+6+7+8 253749.62

253749.62
6-5
220V
2. 1.5m
1.5m 1.3m 3.2m
BLV - 2.5mm’
025 50x%x5
3. 6-9
6-9
/m
1 x 60W 2m | 3/N +1/N;=4x%6 10 2.4
2/N;=2x6 10 1.2
GC51.1 x 100W 2.5m
/Dy - 2/Ny=2x6 0 | 1.2
40W/1 3.2m
XDs - 401 s 2/Ny=2x6 10 1.2
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/m
YG57 - 2 x
5 6/N, =6x6 10 3.6
40W 2.5m
6 ?*1400mm 1/N; +2/N,=3%x6 18
7 1.3m 5/Ni+3/N, +2/N; =10%x 6 10 6
867223 - 10
8 3/N;+5/N;=8%6 10 4.8
86KI11 - 10 1.5m
9 1I/N,=1x6 10 0.6
86K31 - 10 1.5m
10 2/N,=2%x6 10 1.2
86K31 - 10 1.5m
XMR - 15
11 6
-112 1.5m
12 9/N; +5/N, +7/N3 =21 x 6 10 12.6
86H5075 x 75 x 50
13 1
2.7m
2.7 + 3 + 5 x 1.039
14 -40x 4 10m | 1.1
1.26kg/m =11
15 [50 % 52.5m 3.77x2.5kg/ =9.425kg/ 1
16 1
2.7-1.5+0.5=1.7
17 DN32 1.4+3.2=4.6 100m | 0.063
1.7+4.6=6.3
18 DIN25 3.2+3.2=6.4 100m | 0.064
19 DN20 3.2+3.2=6.4 100m | 0.064
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/m

1.5+1.7+1.5 x4=18.8
32+1.4+1.5 x4+ 3.2

20 BLV = 10mm’ +1.5+3.2+1.5 x3+ 3.2|100m | 0.902
+1.543.2+1.5 x2=71.4
18.8+71.4=90.2
1.5m
3.2-1.5=1.7
1.7x3=5.1
3.2-1.3 =1.9
1.9x10=19
21 DN25 3.2-1.5 =1.7 100m | 2.874
1.7x14=23.8
5.1 +19+23.8 x6=
287.4
1.7+1.5 x3x3=28.8
1.5m
3.2-1.3 x10x3=57
3.2-1.5 x8x2=27.2
3.2-1.5 x1x3=5.1
3.2-1.5 x2x4=13.6
BLV - 3.2-1.5 x3%x2=10.2
22
2.5mm’

893 -




/m
28.8+57+27.2+5.1+
13.6+10.2 x6=2851.4
2 1.8+1.6+1.8+1.6+
39+1.6+2.5+2.3=17.1
3 0.5+1+3.5+0.5+1.5
+4.140.4+1.7=13.2
4 2+1.5+04+1.1+1.7
=6.7
6 4.2+0.8=5
N, 2 3.843.5=7.3
3 0.4+0.9+9.3+1.4+
N 0.3+04+3.5+3.1+1.8+
3 : 3.3=24.4 100m | 8.514
4 1.5+3.8=5.3
N; 5  3.5m
6 0.6+0.3+1.4+1.5=
3.8
7 0.3m
2 1.1+1.8+1.3+2+1.5
+2+1.5+0.5+0.5+40.7=
12.9
3 0.3+0.3+0.2+1+0.9
+2.2+41.8+40.5+3.3+0.3+
1.8+1.2=13.8
4 0.8+1.4+0.6=2.8
17.1+ 6.7+ 6.7+ 7.3 +5.3 +
53+3.5+0.3+0.3+12.9+ | 100m | 4.26
2.8+2.8=71x6=426
13.2+5+5+24.4+3.8+3.5
+3.840.3+13.8=72.8x6= | 100m | 4.368
436.8
24 6x2=12 10 1.2
J10mm?
6-10 6-11
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6-11

/
1 9797.48
2 5606.82
3 2x128.01% 7177.29
4 2%20.07% 1125.29
5 2x52.16% 2924.52
6 14529.69
6-1 13529.69
6-2 1000.00
7 1+3+4+5+6 x0.16% 56.89
8 1+3+4+5+46+7 x3.56% 1267.76
9 1+3+4+5+6+7+8 36878.79
36878.79
1.
2.
@
@
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5 ~ 6kg

s 00 @ 086 g0
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6-6 # 425 124t
230 /t 260 /t
# 425
425 =124 x 260 -230 =124x30 =3720
#425 3720
6-7 6-12
6-12
/ /

1| #4025 v 87 260 230

2 | #525 ¢ | 145 290 270

3| g0 t|23.94 2650 2400

4 | 910 v 19.07 2600 2400

5 w | 23.55 1020 850

—87 260-230  +145 290-270  +23.94 2650 -
2400
=19.07 2600 - 2400 +23.55 1020 -850
=2610 +2900 +5985 +3814 +4003.5
=19312.50
19312.50
b.
= 2 X - X
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= X
6-38 176420
1.41%
= X = 176420 x
1.41% =2487.52
2487.52
1. = X
2.
3 = + + +
+
4 = + /m’
1.
2.
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20 ~ 30

30 ~ 40
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2
3
4 360mm
370mm 365mm
60mm 120mm 60mm
60mm 120mm
62.5mm  125mm
5
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10.

I1.

12.

13.

14.

15.

2.2m

2.2m

1.5m

2.2m
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axL X

1.5m ax L/2
16.

17.

18.

3. 2.2m

8. 2.20m
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300mm

a<1.5m

300mm



3.
1.

+ 30mm

2m
7-1 7-1
= 15.24+4 mx 30.24+4 m=0658.78m’

S =S +L x2+16m?
§ —
S _
; —
16— 2x2x4=16

7.2.2
S =S +L x2+16m’=
= 15.24x30.24+ 15.24x2+30.25x2 x2+16
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= 658.82m"

15240

30240 7 %

3m

20m? 30cm

10cm 20cm

V. =L a+2c H
V. =L a+2c+kH H
V—
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1
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0.25m

10.
11.

12.

13.

90°

V=1IA
V=A L-D
V=nRL
+
X
+ X

+—nD?
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2. + 300mm
+ 300mm

0.3m’

=L x - 0.3’
=L x - 0.3m’
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0.3m’

300mm

100mm
= L xH -
= L xH -
= L xH -
= L xH -
L__
L_

200mm
600mm

3/4

H+

X
H+
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3.6m

930 -

15m
15m

3m

15m
60%

3.6m

1.0m



3.6m m’

7. 3.6m
3.6m
8. 3.6m

10.
11. 1.2m

0.05m’

2. 0.3m’
0.3m’
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2.
1
2
9m
3
20km
0. 4m3
4
5
)
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6
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0.23m’ 2.2
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30
45
60

S-L=0.27TH
S-L=0.41H
S-L=0.57TH

30
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Smm

1.7

10
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-2

600mm

-4 x X2+

3mm

0.05m’



11

12

13

14

15

16

17

18

20cm

50cm

300mm

0 3m’

1.2

30cm

S5cm

5%

1.15
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500mm

[9%)
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0.3m’

500mm
500mm

500mm

300mm

250mm

0.3m’



20mm

25mm

1.10

0.3m’

1.5
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200mm
100mm

0.3m’

1 0.3m’

Im

200mm 360mm

1.30

1.20
1.20
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c—1 1.5x 1.8 10 27
M—1 2x2.7 1 5.4
M—2 1.2x2.1 10 25.2
== ——
g
g ~
Fl,m .,’fi«e
Wpres.

) 10000 l

KBHCRB K 20 5 GEBEG SR 2R
’:M&Wﬁﬂﬁﬁﬁ 3E Eiﬁiﬂmﬁ}ﬁ 208
"""’ AR Y _II-ﬂ P

{b) ()

L = 18.5+12 x2m=6Ilm
L =6lm-4x0.37m=59.52m
L = 6x3-0.24 m+6x2m+ 5-0.24 x6m=58.32m

59.52m-4x0.37m-10x0.24m=55.64m
58.32x2m—-0.24 x 4m = 115.68m
55.64%x3.5m—-27m—-5.4m=162.34m

115.68 x 3.5m —25.2 x 2m = 354.48m
941 -




162.34m + 354.48m = 516.82m
2

61 x2.6m>-=27m>-2x 2.7-0.9 m’=128m’

6lx 0.9+0.3 m’-2x0.9m*=71.4m’
3.
=18.5 x 12m’ = 222’
= - = 222m* - 59.52 x

0.37m’ - 58.32 x 0.24m* = 185.98m’

4.

1

59.52m-4x0.37m-10%x 0.24m = 55.64m

2

59.52x2m—-4x0.24m=118.08m

55.64m + 115.68m = 173.72m

2. 1500mm 1500mm
300mm

10mm  20mm 20mm

1.15
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2 T7-2
7-3
7-4
7-5
7-6
7-1
m2

- 950
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X X Cs
SVIl -14-1~4 SVIl -15-1~4
1 K71 + 602.00 ~ K72 +
200 4
2
1 K69 + 886 K69 + 000 K71 + 600
K74 + 276 K75 + 170 Gtb-S-B 48m Grb-S-
B 24

Gb-A-E 5m Gibhb-S-B 5m
953 -



Gb-A-E

25m Gtb-S-B 5m
Gtb-S-B Gb-S-E
15809.35m

Grb — A — E8861.86m
Grb - S - E6759.49m

Grb — S - B188m
13049
7316 Gtb-S-B 9%
5733 Gth-S-B 9%
1 1996
1996
2
3 1996
80%
1. 10km
2. 1 500km
4 S-B 30 #
5 S-B 30 #
16 30 #
6
+ 6cm + 6cm
7
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8cm
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X X Cs

1 7-1

7-1 x x
Cs

802 - 1
802-1-1 15809.35 | 190.89 | 3017847

802 -2
802-2-1 28340 152.84 4331486
802-2-2 0 0

802 -3
802-3-1 0 0
802-3-2 200 768.33 453 666

803 -1
803-1-1 0 0
803-1-2 0 0

805 - 1
805-1-1 360 26.03 9371
805-1-2 1223 4.91 6005

805 -2
805-2-1 m’ 0 0
805-2-2 0 0
805-2-3 m’ 0 0

225551
7743926
2 7-2 7-3 T7-4
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802-2-1
1 t/m 360.441/28340 3061922.66 8%
2 t/ 182.913/7218 1230318.57
3 t/ 1.583/94 10997.64
4 m 2.538 973.31
5 m’/ 44.8/16 27304.55
4331516.73
152.84 /m
7-3
802 -1-1
1 t/m 201.661/15 809.35 1713097.21 8%
2 4 189.294,/5639 1273240.76 2.86kg/
3 t/ 1.752/94 12174.72
4 m 2.538 973.31
5 16 18419.26
3017905.33
190.89 /m
7-4
802-3-2
1 20° m 0.58 161.76
2 t 0.30 1311.67
3 m 200 58994 .00
4 m 487.2 5223.75
5 m 826 33003.87
6 m 784.17 54971.21
153666.66
768.33 /m

957 -




3. 7-5
7-5
t t
201.661 190.1 5663
6-3-5 6-3-3
1 16.02 0.7 2261.43 7.90 24058.68
2 t 5300 0.007 7481.62
3 kg |10.13| 52.40 107044..08
4 t 5400 1.000 1088969.40
5 t 3200 0.025 15208.00
6 t 4500 1.04 889668 .00
7 kg | 5.41 4.80 4936.52
8 9.10 1729.91
9| 4 241.77)  0.07 3412.89 0.32 19303.40
10 | 30kVA 52.04 0.88 8705.67
11 58.60 11139.86
5996 1209159.36| 5127 974642.70
1209169.42 974750.04
40869.59 32942.92
163599.26 131869.16
55131.50 44438.74
29375.19 23677.87
36718.99 29597.34
51337.17 41383.70
1586201.12 1278659.77
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5.
6.
8-1
C 4979068 2
0.3m
20500m*
509600m*
202500m’
509600m’
2km
274000m*
9.5km
8-1
202500m* + 40500m’
45298m’
202500m’ 212468m’
9968m’ 4.9%
9.5km
1
4.9%
2.5 6.5 2

963 -



/o’ /o’
509600 202500
509600 x 0.20 = 101920 202500 x 0.20 = 40500
20%
+ 509600 £ 202500
611520 243000
10% 611520 x 0.90 = 550368
— 509600
40768
40768 x % = 45208
£ 243000
288298
273883 274000m°
5%
BOQ 4.9%
2 2km
9.5km
m 28.0 75 %
0.75x28.0
— =5.25
4.0
8%

964 -




5.25x0.80 =0.42

+ 5.25
5.67
4%
5.67x1.04 =5.987
5.987 x 9968 = 58781

58 781
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15%
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10.

11.

12.

13.

14.

16.

17.
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10om> 2.5 2.5 /10m?
9.0
9.0 9.5
3
300m’ 8-4
8 —4
1 I
300m? 70
300m? 70 2.5 /10m?
9.5 / 300m”
9.0

70 x 9.5 / 75 x 9.0 / =

70 x 9.0 =
665 675
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45
35
10
3
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FIDIC
84
84
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10

84

ADR
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DRB



DRB

DRB

DRB
50%
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4 400

1990 7

8~10
1022 -

1984

1989 5 600

4 500

1 000

11
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300 1987

72
8-2
2 500 34
4
500 2 000
1 200
1983 8
3 500
1983 6
1983
1984 6
1985 1~2 6 1985 4
60 % 1 1 200
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8-1 1978 ~ 1997
1978 100.7 1988 118.2 120.7
1979 102.0 101.9 1989 117.8 116.3
1980 106.0 107.5 1990 102.1 103.1
1981 102.4 102.5 1991 102.9 103.4
1982 101.9 102.2 1992 105.4 106.4
1983 101.5 102.0 1993 113.0 114.7
1984 102.8 102.7 1994 121.7 124.1
1985 108.8 111.9 1995 114.8 114.8
1986 106.0 107.0 1996 106.1 108.3
1987 107.3 108.8 1997 100.8 102.8
1998
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8-1

500 1996 1 1996 10

1 100.02 1996 10 100.27

y 500 100.27
= 100.02

1.0025 =501.25

501.25 ~500  =1.25

1.25
2.
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1996

= 500 x



AO BO CO DO

A B C D

+ aq +

ay

apgt+ a;+ a, + as

28 ay a; aj

ag an as ay
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1 0.15~0.35

0.10
~0.20 0.10~0.16 0.09~0.13 0.35~0.48
0.04~0.08 0.17

5% 5%
~20% 10% 90% 20%

8-2 100
1998 3 1999 5
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45% 11% 11% 5% 6% 3% 4% 15%
1998 3 100 100.8 102.0 93.6 100.2 95.4 | 93.4 —_
1999 5 110.1 98.0 112.9 95.9 98.9 91.1 | 117.9 —_
110.1 98.0
=100 0.15+0.45x ~ 05 + 011 X 750" 0e + 0-11 X
112.9 95.9 98.9 91.1
102,07 0-05x 937 +0.06x 75575 +0.03x g5~ +
117.9
0.04 x g3
= 100 x 1.064
= 106.4
1999 5 106.4
6.4
FIDIC
1.
FIDIC 8—1
81
2.
1
2
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5% ~ 10%
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14

10% ~ 20%

70% ~ 80%
50% ~ 60%

FIDIC
5% 10%
5%
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28

FIDIC

56

70
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8-3
A 2300m® B 3 200m* A 180
/m® B 160 /m’
20%
5%
10%
0.9
1.2
25
50%
8-3
8§-3
m3
1 2 3 4
A 500 800 800 600
B 700 900 800 600
1 500x 180 +700x 160 =20.2
202x1.2x 1-5% =23.028

25
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1

2300 x 180 + 3200 x 160 x20% =18.52
2
800x 180 +900x 160 =28.8
28.8x1.2x0.95 = 32.832
23.028 +32.832 =55.86
3
800x 180  +800 x 160 =27.2
27.2x1.2x0.95 =31.008
18.52 x 50% =9.26
32.008 -9.26 =21.748
25
4 A 2 700m’
300m* 400m’ 10%
10%
2700m® -2300x  1+10% m’=170m’
180x0.9 /m’=162 /m’
A 600-170 x180 +170x162 =10.494
B 3 000m* 3 200m*
B 600 x 160 =9.6
A B
10.494 +9.6 =20.094
20.094x1.2x0.95 =22.907
21.748 +22.907 - 18.52 x 50% =35.395
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1998 498

10-1~

10-6

1998 4
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2
3 13
= + +
4. 10-4
10-4
1 6 | 7 8 10
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8 9

10

10-5

10-5

/m?

10-6
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10-1

2000 800 1200 60 120 40

400 200 400 — — —

__400+200+400
~ 2000 + 800 + 1200

400 B
=000 X120 =24

400
~ 2000

= 400+200+400 + 15+24+8
= 1047

60 =15

x 40 =8

1054 -




1055 -



1056 -



1057 -



1058 -

20

10



1059 -



1060 -



1061 -



100%
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x 100%

x 100%

x 100%

x 100%

x 100%
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100%

2
S y
3
4.
1
= - % 100%
2
= x 100%
5.
100%
6.
- x 100%
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RNPV:il RCI-RCO ¢ 1+i, ~t

RNPV——
RCl——
RCO ——
I
n
[— t=1 2
8. RIRR
i} RCI-RCO , 1+ ipmy ~'=0
LRIRR
9.
1 Pr,
PRI
_‘1 RCI-RCO ,=0
2 P’y
P'RI
Z}l RCI-RCO , 1+1i ~'=0
10.
PR‘]
Igq = 21 Rgp + D' + Rro — Ri,
Irq
Prq
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